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DA + 3B (1) =7 LA By (o)

* Given that we have 25.0 g of liquid bromine, how many grams of aluminum would we need
to react away all of the bromine?

@ Convert grams of bromine to moles: Need formula weight R 0 ~ 1 X779 96

19,404 By = wéo\ ol 159. %0
mol by — 0.|S64S mol Br
15,0986, A 159,90 g By )

@ Use the chemical equation to relate moles of bromine to moles of aluminum

D ol AVS Smol By
D ol A\
3 mol \?)\r,)_

@ Convert moles aluminum to mass: Need formula weight A} 22 6 .79

9% A
0 106420 md Al x, 22 \/(&f\i | =[1.8lg

0.1S64S mal By X =~ 0O.lo430 md Al
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You can combine all three steps on one line if you like!

@‘gq'%038r7_3 o) 6rl @ ) o {5\\:3"\'0\ %‘F’L @1%:9%3{5(\: ol !3«\

AR Dmod AV L6, 9%6 A \
25,0 B, X - 27 |\ o Al

X K
\99(603 BB_ 3 mol %‘F’L o) A\

® © ®

Things we can do:

If we have ... ... and we need ... Use ...
MASS MOLES FORMULA WEIGHT

SOLUTION MOLES MOLAR

VOLUME CONCETRATION
(MOLARITY)

MOLES OF A MOLES OF B BALANCED
CHEMICAL
EQUATION




o Example:
How many milliliters of 6.00M hydrochloric acid is needed to completely react with

25.0 g of sodium carbonate? /

1}— Q) Cog )+ NO\'LCO (s 7 Ha0(8) +log(gle BM-C 1leq)

1 - Convert 25.0 g sodium carbonate to moles. Use FORMULA WEIGHT.
2 - Convert moles sodium carbonate to moles HCI. Use CHEMICAL EQUATION.

3 - Convert moles HCI to volume. Use MOLARITY. (6.00M)
@ Nm—l('og, U&\ 2+ 211.99

¢ ¢ 1w (,0
O:3xli6,00
H}S.CICISMM_(OI’ - mo} N&.,LCOS
} Nen CO
25,0, Mu, (0 me (A’ -~ 0. 735¢7 3
VAR 10§99, Nuy (03 3084 ma] Mg (03

@ Lmol (| < mo) /Ua,L(Og

1"“0\ V\u \_O_b|7)71’[?,6|72-'m0| HC}
m,g\ MG\,L(Og

O, L3587 3084 mo] Mag (074



e Example:
How many milliliters of 6.00M hydrochloric acid is needed to completely react with
25.0 g of sodium carbonate?

2HO g )+ Nag Loy (s) — Ha 0(0) ¥ (0 Cylw LN-CY L)

1 - Convert 25.0 g sodium carbonate to moles. Use FORMULA WEIGHT.
2 - Convert moles sodium carbonate to moles HCIl. Use CHEMICAL EQUATION.
3 - Convert moles HCI to volume. Use MOLARITY. (6.00M)

@ ¢ 00 mol HI( = L

D.M7)7426172wmol HCI x = = 0,07%( L of 606m HC
_ 6.00 mol M|

We have an answer in L, but we're asked for mL. Do a quick unit conversion.
mlz (0730

5,096 L v S =[7€.6 mL of C,00m HC) /
(o~ 3.
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”‘\’L,()cgglvw)\ 3,069 9lmu\
P, = Lo — H (N «6HL0 « Ny,

propylene acrylonitrile
Calculate how many grams of acrylonitrile could be obtained from 651 g of propylene, assuming
there is excess NO present.

1 - Convert 651 g propylene to moles. Use FORMULA WEIGHT.
2 - Convert moles propylene to moles acrylonitrile. Use CHEMICAL EQUATION
3 - Convert moles acrylonitrile o grams acrylonitrile. Use FORMULA WEIGHT.

® HZ. 06 g (Mg =m0 CoMg @ Uml (Mg = mal (M v

® 53.0644 (N = mol (A

M) CgHg . L1MU|C1H3A/7\ 5—3.06('13(,3145)‘\}*
2. O@\ 5 (%H() [’lmol (,qol’lg o) Csf’h/\/

® ©) ®
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|S\.°/O’9/mu\
10 FeSoy + 2 kmnoy, € S50y —> SFe, (S0, ), L Mad0y~ kS0
+ %HL'D

How many mL of 0.250M potassium permangenate are needed to react with 3.36 g of iron(ll) sulfate?

1 - Convert 3.36 g iron(ll) sulfate to moles. Use FORMULA WEIGHT,
2 - Convert moles iron(ll) sulfate to moles potassium permangenate. Use CHEMICAL EQUATION

3 - Convert moles potassium permangenate to volume. Use MOLARITY (0.250M)

@ \S |,906 FQ SOV[ T me) F@S‘OUl @ |OmU]FGSOL':?_ﬂ\ﬁ1KMAO£1
@o.uo mal KOy = L

3%& FQSO . mo) Fe§0 '2_»\111}(/”11»'\0!1 L
15151,90, = S0 10ma eS80, 0,200 mel KMWO,,
® @ ®
= 0.0177 L converttomL
= 1078

- :I]’)"JNL {‘/F 0,250 /n L(/”hobj




